CIEF10_X spectral tristimulus valuesymax(A)=1

Yr10_x,10)=A21 F10_x,1A)*+A2oME10_x,1(N)

+A238F10_x,1(N)

2,0} A2j 0,6928 0,3496 0,000 A(545)
D65: 57 £10 x 1(\)=23,17

XF10_x, 70,3136 Y10 x £0,3311
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wavelengthA /nm
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CIEF10_X spectral tristimulus valuesymax(A)=1

Yr10_x,10)=A21 F10_x,1A)*+A2oME10_x,1(N)

+A238F10_x,1(N)

2,0} A2j 0,6928 0,3496 0,000 A(545)
D50: 5§ 10, x 1(\)=22,86

XF10_x, 10,3480 Yr10_x 10,3594
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wavelengthA /nm
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CIEF10_X spectral tristimulus valuesymax(A)=1

Yr10_x,10)=A21 F10_x,1A)*+A2oME10_x,1(N)

+A238F10_x,1(N)

2,0} A2j 0,6928 0,3496 0,000 A(545)
P40: 37 £10 x (N)=23,18

XF10_x, 70,3829 Yr10_x 10,3752

EN o
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CIEF10_X spectral tristimulus valuesymax(A)=1

Yr10_x,10)=A21 F10_x,1A)*+A2oME10_x,1(N)

+A238F10_x,1(N)

2,0} A2j 0,6928 0,3496 0,000 A(545)
AQO: 57 £10_x.1(N)=23,82

XF10_x, 70,4528 Yr10_x 10,4051

400 500 600

wavelengthA /nm
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CIEF10_X spectral tristimulus valuesymax(A)=1

Yr10_x,10)=A21 F10_x,1A)*+A2oME10_x,1(N)

+A238F10_x,1(N)

2,0} A2j 0,6928 0,3496 0,000 A(545)
E00: 5§ 10 x 1(\)=23,70

XF10_x, 70,3331 Yp10_x 10,3331

400 500 600

wavelengthA /nm

EE161-2A 1



CIEF10_X spectral tristimulus valuesymax(A)=1

Yr10_x,10)=A21 F10_x,1A)*+A2oME10_x,1(N)

+A238F10_x,1(N)

2,0} A2j 0,6928 0,3496 0,000 A(545)
C00: 57 k19 x,1(N)=22,63

XF10_x, 50,3100 Yr1o_x 70,3190

1y~~~ ~"~"~"~"~"@- -~~~ ~"~-=-=----
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CIEF10_X spectral tristimulus valuesymax(A)=1

Yr10_x,10)=A21 F10_x,1A)*+A2oME10_x,1(N)

+A238F10_x,1(N)

2,0} A2j 0,6928 0,3496 0,000 A(545)
POO: 5§ £10_x 1\)=23,65

XF10_x, 50,3611 Yp1g_x 10,3521

1~~~ ~"~"~"~"~"g@@ - -~ ~"~-~-~--~---
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CIEF10_X spectral tristimulus valuesymax(A)=1

Yr10_x,1M=A21l F10_x,1A)+A20ME10_x,1(A)

+A238F10_x,1(N)

2,0} Azj 0,6928 0,3496 0,000 A(545)
Q00:2¥ £y _x,1(A)=23,93

XFlO_X,l:0’3062 yFlO_X,l:0'3115
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wavelengthA /nm

EE161-2A 1



